

State of West Virginia Solicitation Response

Proc Folder: 958325

Solicitation Description: RV50X LTE Routers or Equal for Traffic Counts (81220039)

Proc Type: Agency Purchase Order

 Solicitation Closes
 Solicitation Response
 Version

 2021-11-16 14:30
 SR 0803 ESR11162100000003050
 1

VENDOR

VS0000036994

PLANET CELLULAR INC

Solicitation Number: ARFQ 0803 DOT2200000013

Total Bid: 28620 **Response Date:** 2021-11-16 **Response Time:** 10:05:48

Comments:

FOR INFORMATION CONTACT THE BUYER

Dusty J Smith (304) 558-2063 dusty.j.smith@wv.gov

Vendor Signature X

FEIN# DATE

All offers subject to all terms and conditions contained in this solicitation

 Date Printed:
 Nov 17, 2021
 Page: 1
 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Sierra Wireless Airlink RV50X LTE Routers or Equal	30.00000	EA	889.000000	26670.00

Comm Code	Manufacturer	Specification	Model #	
43222609				

Commodity Line Comments:

Extended Description:

Sierra Wireless Airlink RV50X LTE Routers or Equal will be used in Continuous Count Stations for the purpose of transmitting traffic data from our Permanent Automated Traffic Records to the polling software GEOCounts TUPI.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	2in1 Panel Antenna - 2xLTE, Bolt Mount, 3m cables or Equal	30.00000	EA	65.000000	1950.00

Comm Code	Manufacturer	Specification	Model #	
43221723				

Commodity Line Comments:

Extended Description:

2in1 Panel Antenna - 2xLTE, Bolt Mount, 3m cables or Equal

Date Printed: Nov 17, 2021 Page: 2 FORM ID: WV-PRC-SR-001 2020/05



State of West Virginia Agency Request for Quote Info Technology

Proc Folder: 958325

Doc Description: RV50X LTE Routers or Equal for Traffic Counts (81220039)

Reason for Modification:

1

Proc Type:

Agency Purchase Order

Date Issued Solicitation Closes Solicitation No Version

2021-11-01 2021-11-16 14:30 ARFQ 0803 DOT2200000013

BID RECEIVING LOCATION

FINANCE & ADMINISTRATION

DIVISION OF HIGHWAYS

BLDG 5, RM A-260

1900 KANAWHA BLVD E

CHARLESTON WV 25302

US

VENDOR

Vendor Customer Code:

Vendor Name: Planet Cellular Inc

Address: 2114 N Flamingo Rd #1150 Pembroke Pines, FL 33028

Street: 2114 N Flamingo Rd #1150

City: Pembroke Pines.

State: Country: USA Zip: 33028

Principal Contact: Chris lynn

Vendor Contact Phone: (510) 871-4371 Extension:

FOR INFORMATION CONTACT THE BUYER

Dusty J Smith (304) 558-2063

dusty.j.smith@wv.gov

Vendor Signature X

chrislynn

FEIN# 22-3919201

DATE 11/16/21

All offers subject to all terms and conditions contained in this solicitation

 Date Printed:
 Nov 1, 2021
 Page 1
 FORM ID: WV-PRC-ARFQ-002 2020/05

ADDITIONAL INFORMATION

THE WEST VIRIGNIA DEPARTMENT OF TRANSPORTATION- BUDGET AND PROCUREMENT DIVISION - FOR STRATEGIC DATA MANAGEMENT & TECHNOLOGY DIVISION, IS SOLICITING BIDS FOR AN ONE TIME CONTRACT FOR ROUTERS AND PANEL ANTENNA PER THE ATTACHED DOCUMENTS.

QUESTIONS REGARDING THE SOLICITATION MUST BE SUBMITTED IN WRITING TO DUSTY.J.SMITH@WV.GOV PRIOR TO THE QUESTION PERIOD DEADLINE CONTAINED IN THE INSTRUCTIONS TO VENDORS SUBMITTING BIDS.

********NOTICE******

WE DO NOT ACCEPT EMAIL BIDS

MUST USE ONE THE FOLLOWING TO SUBMIT A BID:

* UPLOAD TO OASIS

* HAND DELIVERY

* MAIL IN HARD COPY

MAKE SURE YOU DOWNLOAD ALL INFORMATION
THE- COMPLETE SOLICITATION-PRICING PAGES-SIGN THE PAGES THAT NEED SIGNED

PLEASE NOTE THAT TO BE AWARDED THIS CONTRACT YOU WILL BE TO A REGISTER VENDOR WITH WV STATE PURCHASING, AND COMPLIANT WITH SEVERAL AGENCIES SUCH AS THE WVSOS, TAX DEPARTMENT, WORKER'S COMPENSATION, AND UNEMPLOYMENT INSURANCE

INVOICE TO		SHIP TO		
DEPT. OF TRANSPORTATION	I	DEPT. OF TRANSPORTATION		
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720		
CHARLESTON	WV	CHARLESTON	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	Sierra Wireless Airlink RV50X LTE Routers or Equal	30.00000	EA	889	26670

Comm Code	Manufacturer	Specification	Model #
43222609	Sierra Wireless Airlink		1719-1003-ND

Extended Description:

Sierra Wireless Airlink RV50X LTE Routers or Equal will be used in Continuous Count Stations for the purpose of transmitting traffic data from our Permanent Automated Traffic Records to the polling software GEOCounts TUPI.

 Date Printed:
 Nov 1, 2021
 Page 2
 FORM ID: WV-PRC-ARFQ-002 2020/05

INVOICE TOSHIP TODEPT. OF TRANSPORTATIONDEPT. OF TRANSPORTATION1900 KANAWHA BLVD E,1900 KANAWHA BLVD E,BLD. 5 RM-720BLD. 5 RM-720

CHARLESTON WV CHARLESTON WV

US US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	2in1 Panel Antenna - 2xLTE, Bolt Mount, 3m cables or Equal	30.00000	EA	65	1950

Comm Code	Manufacturer	Specification	Model #	
43221723	Sierra Wireless Airlink		1719-1001-ND	

Extended Description:

2in1 Panel Antenna - 2xLTE, Bolt Mount, 3m cables or Equal

SCHEDULE OF EVENTS

<u>Line</u>	<u>Event</u>	Event Date
1	TECHNICAL QUESTIONS DUES AT 10AM	2021-11-08

	Document Phase	Document Description	Page 4
DOT220000013	l .	RV50X LTE Routers or Equal for Traffic Counts (81220039)	

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

EXHIBIT A - PRICING PAGE

	TOTAL EQUIPMENT PRICE								
	LOCATION - BUILDING 5, ROOM A-720 CHARLESTON, WV 25305								
Contract Item Number	Quantity	Description		Unit Price		TOTAL			
		Contract Item #1 Sierra Wireless Airlink							
		RV50X LTE Routers (Item # 1103052) or							
3.1.1	30	equal	\$	889.00	\$	26,670.00			
		Contract Item #2 -2in1 Panel Antenna -							
		2xLTE, Bolt Mount, 3m cable (Item #							
3.1.2	30	6001124) or equal	\$	65.00	\$	1,950.00			
Total					\$	28,620.00			